CONSTRUCTION OF THE PAVING AND APPURTENANCES
TO SERVE BEACON HILL SECTION 6
WALLER COUNTY MUNICIPAL UTILITY DISTRICT NO. 33
CITY OF WALLER, WALLER COUNTY, TEXAS

OCTOBER 22, 2024 LJA ENGINEERING, INC. A. GUIJOSA OCTOBER 22, 2024 1037-7106 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

BIDDER'S NAME TOTAL AMOUNT BID

1) BEYER CONSTRUCTION, LLC	\$679,950.00
2) HARRIS CONSTRUCTION COMPANY, LLC	\$698,417.10
3) BAY PAVING, LLC	\$722,304.90
4) DECROSTA CONSTRUCTION	\$753,543.80
5) PRECISE SERVICES INC.	\$783,974.75
6) R CONSTRUCTION CIVIL, LLC	\$799,177.50

CALENDAR DAYS 45/55



Jole Than

I, Julio Triana, PE, hereby certify these bid tabulations to be true and correct.

FRN F-1386
Page 1 of 5 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE BEACON HILL SECTION 6 WALLER COUNTY MUNICIPAL UTILITY DISTRICT NO. 33 CITY OF WALLER, WALLER COUNTY, TEXAS OCTOBER 22, 2024 LJA ENGINEERING, INC. A. GUIJOSA OCTOBER 22, 2024

1037-7106 (9.2)

				1) BEYER CONST	RUCTION, LLC	2) HARRIS CONSTRUCT	TION COMPANY, LLC	3) BAY PAVI	NG, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
BEACON HILL SECTION 6 PA	AVING IMPROVEMENT ITEMS								
1 ROADWAY AND LOT E	XCAVATION, COMPLETE IN PLACE	CY	3873	\$2.50	\$9,682.50	\$3.50	\$13,555.50	\$2.50	\$9,682.50
MATERIAL BEFORE PL PROOF ROLLING, OFF	MBANKMENT, INCLUDES REMOVAL OF UNSUITABLE ACING FILL, STRIPPING, STOCKPILING OF STRIPPINGS, -ROAD HAULING, PLACEMENT AND COMPACTION TO 95% DENSITY, REAPPLICATION OF STRIPPINGS, COMPLETE IN	CY	3873	\$4.50	\$17,428.50	\$3.50	\$13,555.50	\$2.50	\$9,682.50
3 6" REINFORCED CONC MIX, COMPLETE IN PLA	CRETE PAVEMENT, 5.5 SACKS CEMENT PER CUBIC YARD OF ACE	SY	10283	\$50.00	\$514,150.00	\$47.25	\$485,871.75	\$50.00	\$514,150.00
4 6" REINFORCED CONC	CRETE CURB, COMPLETE IN PLACE	LF	3234	\$4.00	\$12,936.00	\$3.75	\$12,127.50	\$3.65	\$11,804.10
5 4"X12" REINFORCED C	CONCRETE CURB, COMPLETE IN PLACE	LF	2537	\$4.00	\$10,148.00	\$3.75	\$9,513.75	\$3.65	\$9,260.05
6 6" LIME STABILIZED SU	JB-GRADE (MANIPULATION), COMPLETE IN PLACE	SY	11619	\$2.00	\$23,238.00	\$2.90	\$33,695.10	\$3.25	\$37,761.75
PER SQUARE YARD) A	STABILIZED SUB-GRADE (3% LIME BY WEIGHT OR 20 LBS IS REQUIRED BY SOIL CONDITIONS AND APPROVED BY NEER, COMPLETE IN PLACE	TON	116	\$315.00	\$36,540.00	\$400.00	\$46,400.00	\$355.00	\$41,180.00
SQUARE YARD) AS RE	ZED SUB-GRADE, (6% FLY ASH BY WEIGHT OR 40 LBS PER QUIRED BY SOIL CONDITIONS AND APPROVED BY NEER, COMPLETE IN PLACE	TON	232	\$114.00	\$26,448.00	\$150.00	\$34,800.00	\$130.00	\$30,160.00
9 BLUE DOUBLE REFLEC	CTORIZED FIRE HYDRANT BUTTONS, COMPLETE IN PLACE	EA	7	\$8.00	\$56.00	\$19.00	\$133.00	\$12.00	\$84.00
	CONTROL DEVICES (INCLUDING ALL TRAFFIC BUTTONS, STREET SIGNS AND TRAFFIC SIGNS), COMPLETE IN PLACE	LS	1	\$4,000.00	\$4,000.00	\$8,985.00	\$8,985.00	\$6,400.00	\$6,400.00
11 WHEELCHAIR RAMPS,	PER ADA RAMP DETAILS, COMPLETE IN PLACE	EA	8	\$1,100.00	\$8,800.00	\$1,475.00	\$11,800.00	\$1,500.00	\$12,000.00
12 TEMPORARY TRAFFIC	CONTROL DEVICES, COMPLETE IN PLACE	LS	1	\$250.00	\$250.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00
AREAS), INCLUDING S	ING (45 LOTS 6 RESERVES AND FINAL DRESSING OF ALL TRIPPING AND PROOF ROLLING, HAULING, PLACEMENT MATERIALS, AND REPLACEMENT OF STRIPPINGS,	LS	1	\$4,900.00	\$4,900.00	\$10,075.00	\$10,075.00	\$18,000.00	\$18,000.00
14 REMOVE AND DISPOS	E OF TYPE III BARRICADE, COMPLETE IN PLACE	EA	3	\$1.00	\$3.00	\$200.00	\$600.00	\$50.00	\$150.00
15 TIE-IN PROPOSED 6" C COMPLETE IN PLACE	CONCRETE PAVEMENT TO EXISTING 6" PAVEMENT,	EA	3	\$150.00	\$450.00	\$595.00	\$1,785.00	\$750.00	\$2,250.00
16 6" IRRIGATION SLEEVE MARKERS, COMPLETE	ES, PVC SCHEDULE 40, TO INCLUDE BENDS, RISERS, AND EIN PLACE	LF	128	\$33.50	\$4,288.00	\$50.00	\$6,400.00	\$35.00	\$4,480.00
BEACON HILL SECTION 6 PA	AVING IMPROVEMENT ITEMS SUBTOTAL:				\$673,318.00		\$691,797.10		\$708,044.90
PAVING MISCELLANEOUS IT	TEMS								
1 EXTRA TRAFFIC CONT ENGINEER), COMPLET	TROL SIGNS, (TO BE USED ONLY AS DIRECTED BY TE IN PLACE	EA	1	\$300.00	\$300.00	\$300.00	\$300.00	\$300.00	\$300.00
	ILIZED SAND (1.1 SACKS PER TON), (TO BE USED ONLY AS GINEER), COMPLETE IN PLACE	CY	10	\$15.00	\$150.00	\$15.00	\$150.00	\$35.00	\$350.00
3 EXTRA BURLAP BAG B OF THE ENGINEER), C	BARRIER ON INLET, (TO BE USED ONLY AT THE DIRECTION OMPLETE IN PLACE	EA	1	\$10.00	\$10.00	\$10.00	\$10.00	\$50.00	\$50.00
	LET PROTECTION BARRIER, (TO BE USED ONLY AT THE NGINEER), COMPLETE IN PLACE	EA	1	\$60.00	\$60.00	\$60.00	\$60.00	\$60.00	\$60.00

Page 2 of 5 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

TOTAL AMOUNT BASE BID

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE BEACON HILL SECTION 6
WALLER COUNTY MUNICIPAL UTILITY DISTRICT NO. 33
CITY OF WALLER, WALLER COUNTY, TEXAS
OCTOBER 22, 2024
LJA ENGINEERING, INC.
A. GUIJOSA
OCTOBER 22, 2024
1037-7106 (9.2)

\$679.950.00

				, ,					
				1) BEYER CONST	RUCTION, LLC	2) HARRIS CONSTRUCT	TION COMPANY, LLC	3) BAY PAVIN	IG, LLC
ITEM DESC	CRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
5 STORM WATER POLLUTION PREVENTIC INSPECTION REPORTS CONDUCTED ON PERMIT, COMPLETE IN PLACE	ON PLAN COMPLIANCE, INCLUDING N A WEEKLY BASIS ACCORDING TO TCEQ	LS	1	\$5,100.00	\$5,100.00	\$1,200.00	\$1,200.00	\$1,000.00	\$1,000.00
6 EXTRA FLY ASH FOR STABILIZED SUB-C LBS PER SQUARE YARD) AS REQUIRED ENGINEER, COMPLETE IN PLACE	GRADE, (6% FLY ASH BY WEIGHT OR 40 BY SOIL CONDITIONS AND APPROVED BY	TON	10	\$1.00	\$10.00	\$150.00	\$1,500.00	\$130.00	\$1,300.00
7 CONCRETE TRUCK WASHOUT AREA, IN AND REMOVAL, (LOCATION TO BE DIRE PLACE		EA	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00
8 REGRADING OF DISTURBED GRADES B W.S.&D. CONSTRUCTION IS COMPLETE OF THE ENGINEER), COMPLETE IN PLACE	, (TO BE USED ONLY AT THE DIRECTION	DAY	2	\$1.00	\$2.00	\$1,200.00	\$2,400.00	\$4,600.00	\$9,200.00
PAVING MISCELLANEOUS ITEMS SUBTOTAL:					\$6,632.00		\$6,620.00		\$14,260.00
BIDDING SUMMARY									
SUBTOTAL BEACON HILL SECTION 6 PAVING I	IMPROVEMENT ITEMS				\$673,318.00		\$691,797.10		\$708,044.90
SUBTOTAL PAVING MISCELLANEOUS ITEMS					\$6,632.00		\$6,620.00		\$14,260.00

Page 3 of 5 FRN F-1386 LIA Engineering, Inc.

\$698.417.10

\$722.304.90

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE BEACON HILL SECTION 6
WALLER COUNTY MUNICIPAL UTILITY DISTRICT NO. 33 CITY OF WALLER, WALLER COUNTY, TEXAS OCTOBER 22, 2024 LJA ENGINEERING, INC. A. GUIJOSA OCTOBER 22, 2024 1037-7106 (9.2)

				4) DECROSTA CO	INSTRUCTION	5) PRECISE SE	RVICES INC.	6) R CONSTRUCT	ION CIVIL, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
BEACON HILL SECTION	6 PAVING IMPROVEMENT ITEMS								
1 ROADWAY AND I	OT EXCAVATION, COMPLETE IN PLACE	CY	3873	\$8.00	\$30,984.00	\$3.05	\$11,812.65	\$2.00	\$7,746.00
MATERIAL BEFO	OT EMBANKMENT, INCLUDES REMOVAL OF UNSUITABLE RE PLACING FILL, STRIPPING, STOCKPILING OF STRIPPINGS, , OFF-ROAD HAULING, PLACEMENT AND COMPACTION TO 95% CTOR DENSITY, REAPPLICATION OF STRIPPINGS, COMPLETE IN	CY	3873	\$8.00	\$30,984.00	\$3.05	\$11,812.65	\$3.00	\$11,619.00
3 6" REINFORCED MIX, COMPLETE	CONCRETE PAVEMENT, 5.5 SACKS CEMENT PER CUBIC YARD OF IN PLACE	SY	10283	\$47.60	\$489,470.80	\$53.00	\$544,999.00	\$54.00	\$555,282.00
4 6" REINFORCED	CONCRETE CURB, COMPLETE IN PLACE	LF	3234	\$4.00	\$12,936.00	\$4.50	\$14,553.00	\$4.00	\$12,936.00
5 4"X12" REINFORG	CED CONCRETE CURB, COMPLETE IN PLACE	LF	2537	\$4.00	\$10,148.00	\$4.50	\$11,416.50	\$4.00	\$10,148.00
6 6" LIME STABILIZ	ED SUB-GRADE (MANIPULATION), COMPLETE IN PLACE	SY	11619	\$4.00	\$46,476.00	\$5.05	\$58,675.95	\$5.50	\$63,904.50
PER SQUARE YA	FOR STABILIZED SUB-GRADE (3% LIME BY WEIGHT OR 20 LBS RD) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY ENGINEER, COMPLETE IN PLACE	TON	116	\$380.00	\$44,080.00	\$340.00	\$39,440.00	\$340.00	\$39,440.00
SQUARE YARD) A	ABILIZED SUB-GRADE, (6% FLY ASH BY WEIGHT OR 40 LBS PER AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY ENGINEER, COMPLETE IN PLACE	TON	232	\$135.00	\$31,320.00	\$130.00	\$30,160.00	\$140.00	\$32,480.00
9 BLUE DOUBLE R	EFLECTORIZED FIRE HYDRANT BUTTONS, COMPLETE IN PLACE	EA	7	\$50.00	\$350.00	\$20.00	\$140.00	\$15.00	\$105.00
	AFFIC CONTROL DEVICES (INCLUDING ALL TRAFFIC BUTTONS, PING, STREET SIGNS AND TRAFFIC SIGNS), COMPLETE IN PLACE	LS	1	\$9,500.00	\$9,500.00	\$5,350.00	\$5,350.00	\$4,210.00	\$4,210.00
11 WHEELCHAIR RA	MPS, PER ADA RAMP DETAILS, COMPLETE IN PLACE	EA	8	\$1,500.00	\$12,000.00	\$1,800.00	\$14,400.00	\$2,150.00	\$17,200.00
12 TEMPORARY TRA	AFFIC CONTROL DEVICES, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$8,400.00	\$8,400.00
AREAS), INCLUD	GRADING (45 LOTS 6 RESERVES AND FINAL DRESSING OF ALL NG STRIPPING AND PROOF ROLLING, HAULING, PLACEMENT IN OF MATERIALS, AND REPLACEMENT OF STRIPPINGS, ACE	LS		\$15,000.00	\$15,000.00	\$12,500.00	\$12,500.00	\$10,600.00	\$10,600.00
14 REMOVE AND DI	SPOSE OF TYPE III BARRICADE, COMPLETE IN PLACE	EA	3	\$500.00	\$1,500.00	\$100.00	\$300.00	\$1.00	\$3.00
15 TIE-IN PROPOSE COMPLETE IN PL	D 6" CONCRETE PAVEMENT TO EXISTING 6" PAVEMENT, ACE	EA	3	\$1,000.00	\$3,000.00	\$805.00	\$2,415.00	\$2,100.00	\$6,300.00
16 6" IRRIGATION SI MARKERS, COMP	LEEVES, PVC SCHEDULE 40, TO INCLUDE BENDS, RISERS, AND PLETE IN PLACE	LF	128	\$40.00	\$5,120.00	\$60.00	\$7,680.00	\$53.00	\$6,784.00
BEACON HILL SECTION	6 PAVING IMPROVEMENT ITEMS SUBTOTAL:				\$743,868.80		\$766,654.75		\$787,157.50
PAVING MISCELLANEOUS ITEMS									
1 EXTRA TRAFFIC ENGINEER), COM	CONTROL SIGNS, (TO BE USED ONLY AS DIRECTED BY IPLETE IN PLACE	EA	1	\$300.00	\$300.00	\$300.00	\$300.00	\$600.00	\$600.00
	STABILIZED SAND (1.1 SACKS PER TON), (TO BE USED ONLY AS E ENGINEER), COMPLETE IN PLACE	CY	10	\$30.00	\$300.00	\$15.00	\$150.00	\$45.00	\$450.00
	BAG BARRIER ON INLET, (TO BE USED ONLY AT THE DIRECTION ER), COMPLETE IN PLACE	EA	1	\$25.00	\$25.00	\$10.00	\$10.00	\$10.00	\$10.00
	CE INLET PROTECTION BARRIER, (TO BE USED ONLY AT THE HE ENGINEER), COMPLETE IN PLACE	EA	1	\$150.00	\$150.00	\$60.00	\$60.00	\$60.00	\$60.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE BEACON HILL SECTION 6 WALLER COUNTY MUNICIPAL UTILITY DISTRICT NO. 33 CITY OF WALLER, WALLER COUNTY, TEXAS OCTOBER 22, 2024 LJA ENGINEERING, INC. A. GUIJOSA OCTOBER 22, 2024 1037-7106 (9.2)

			4) DECROSTA CO	ONSTRUCTION	5) PRECISE SEF	RVICES INC.	6) R CONSTRUCTI	ON CIVIL, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
5 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$1,300.00	\$1,300.00
6 EXTRA FLY ASH FOR STABILIZED SUB-GRADE, (6% FLY ASH BY WEIGHT OR 40 LBS PER SQUARE YARD) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY ENGINEER, COMPLETE IN PLACE	TON	10	\$140.00	\$1,400.00	\$130.00	\$1,300.00	\$140.00	\$1,400.00
7 CONCRETE TRUCK WASHOUT AREA, INCLUDES INSTALLATION, MAINTENANCE, AND REMOVAL, (LOCATION TO BE DIRECTED BY THE OWNER), COMPLETE IN PLACE	EA	1	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00
8 REGRADING OF DISTURBED GRADES BY UTILITY CONTRACTOR AFTER STAGE II W.S.&D. CONSTRUCTION IS COMPLETE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	DAY	2	\$1,000.00	\$2,000.00	\$6,000.00	\$12,000.00	\$3,850.00	\$7,700.00
PAVING MISCELLANEOUS ITEMS SUBTOTAL:				\$9,675.00		\$17,320.00		\$12,020.00
BIDDING SUMMARY								
SUBTOTAL BEACON HILL SECTION 6 PAVING IMPROVEMENT ITEMS				\$743,868.80		\$766,654.75		\$787,157.50
SUBTOTAL PAVING MISCELLANEOUS ITEMS				\$9,675.00		\$17,320.00		\$12,020.00
TOTAL AMOUNT BASE BID				\$753,543.80		\$783,974.75		\$799,177.50

FRN F-1386 Page 5 of 5 LJA Engineering, Inc.